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020 oooooooon
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(1) 74565 0 16000000

(2) 74565+160 10000000000 DOOOOOOO
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(3) (2)000 16000000

030 ooogxy,---0000000000000000
(1) x> 2014 (2) x>11ly<1

(3) x == "koeki" (4) /[S-UJ(\SH\s+(\dD\1/ =~ x
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name =

||DDD n]

k=0
while k < name.length

printf("O000 %d: \t %s\n", k += 1, name[ * 1)
end
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(2) name.length OO OO OO
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#!/usr/koeki/bin/ruby
i=1
while

i

[ O 1 < 1000
[0 11

[O 1
[ O 1("The answer is %d.\n", [ O 1)
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system.dat

oooad X y z
A 1000 130 2.5
B 1200 160 3.5
¢ 1000 1256 3.0
D 1100 145 3.0
E 600 70 0.5
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#!/usr/koeki/bin/ruby
# coding: —*- utf-8 -*-

max = Array.new(2,0)
open("[ O 1","r:utf-8") do Isysl|
while line = [ O ]
if /[ O 1/ =" line
shutoku $2.to_f
saisan = ([ O ]) * 10 - shutoku
if max[1] < [ O 1]
max [0] $1
max[1] = saisan
end
end
end
end
printf("O00000000COO%s 00
(000000000000 \n",

(o1, 00D

()00 [0 100([0 100000
(2) 0000000 D0000000D000000000

(3 0000000 oO0ooDOoUOoOO0o



